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Exercise 1: Multiple Choice (only one answer is correct)
	1. 
	Which one is not contained in the 10 dimensions of services?
a) competence

b) courtesy

c) durability
d) tangibles

	2. 
	Which is the good order of the steps of quality cycle?
a) specifying quality needs, interpreting customer needs, preparing specifications, producing product

b) preparing specifications of product, specifying quality needs, interpreting customer needs, producing product

c) producing product, specifying quality needs, preparing specifications of product, interpreting customer needs

d) producing product, preparing specifications of product, interpreting customer needs , specifying quality needs

	3. 
	Pair the following statement with one of HIPI items below: The demand of service can fluctuate, while the supply of service is adjusted to the average level of demand, this can cause quality shortages.
a) Heterogeneity

b) Intangibility

c) Perishability

d) Inseparability 

	4. 
	What is utility?
a.) a measure of the relative satisfaction from or desirability of consumption of various goods or services.

b.) the desire to own anything and the ability to pay for it and willingness to pay at a given point of time. 

c.) the relation of the benefits and costs of a product or service.

d.) a feature that make a product or service better than the competing goods.

	5. 
	Which GAP model item is the pair of the following statement: “The difference between guest’s expectation and management perceptions of those expectations.”

a) Knowledge gap

b) Standards gap

c) Delivery gap

d) Communication gap

	6. 
	In which item’s case (from the following) is the customer valuation the most objective?

a) laptop

b) jewelry

c) vegetables for eating 

d) fruits for eating

	7. 
	One of the following characteristics of core competency is wrong. Which one?
a) It contributes significantly to the end-products’ benefits.
b) It is not easy to imitate.
c) It can be leveraged to many of the firm’s products and markets. 

d) It is unchanged for a long time (permanent). 

	8. 
	Supply chain is…
a.) …the extension of the value-chain concept beyond individual firms (to the industrial level for example). 

b.) …similar to the value chain, but it has only logistic functions.
c.) …similar to the value chain, but on the business unit level.
d.) …a group of suppliers that gives the inputs to our firm.


	9. 
	One of the followings are not belongs to the main assumptions of the linear programming model
a.) Linearity

b.) Divisibility

c.) Unertainty

d.) Nonnegativity

	10. 
	If we know, that the firms profit is 100, the fixed costs are 80, then the total revenue must be:
a.) 180

b.) 20

c.) 80%

d.) 125%

	11. 
	Linear programming is a quantitative management tool to obtain ………. solutions to problems that involve restrictions and limitations.

	
	a.) maximum
	b.) optimum
	c.) minimum
	d.) constrained

	12. 
	Which one of the following is a definition of capacity?
a.) Capacity is the upper limit on the load that an operating unit can handle.

b.) Capacity maintains a steady rate of regular-time output while meeting variations in demand by a combination of options.

c.) Capacity is the maximum of market demand.
d.) Capacity is the number of core competencies a firm has.

	13. 
	The …… is the level of capacity in excess of the average utilization rate or level of capacity in excess of the expected demand.
a.) Capacity cushion
b.) Peak capacity

c.) Bottle-neck

d.) Capacity cover

	14. 
	If the output rate is more than the optimal level, increasing the output rate results in increasing average unit costs, we call it:
a) Economies of scale

b) Diseconomies of scale

c) Overcapacitation

d) Capacity cushion

	15. 
	Pair the following statement with one of Garvin’s approaches on quality below?: “Quality cannot be defined precisely, we learn to recognize it only through experience.“
a) Transcendent approach

b) Product-Based approach

c) Manufacturing approach

d) Value based approach


Calculation exercises
Exercise 2
What are the optimal production rates (produced quantities) of P1 and P2 products according to the data shown in the matrix below, if we want to maximize the Total Revenue?
	
	P1
	P2
	b (hrs/y)

	R1
	2
	2
	5000

	R2
	3
	2
	6000

	R3
	0
	2
	4000

	MIN (pcs/y)
	400
	200
	

	MAX (pcs/y)
	2000
	2500
	

	p (HUF/pcs)
	150
	50
	

	cm (HUF/pcs) 
	20
	30
	


Exercise 3
There is a small company with 3 employees (monthly wage is €500 each), machines that have a monthly cost of €1000 and overhead costs of €500 per month. This company produces 2000 pieces of homogenous goods with a market price of €5 per piece. What are the labour, the machine and the multifactor productivities?
Exercise 4

Calculate the following for a year: the Designed Capacity with given work schedule, the Effective Capacity and the realistic quantity of Resource in working minutes we now following data.

Number of working days: 250; there are 1 shift (8 hours each) in a working day; 3 homogenous machines working simultaneously. In every month (12), there is a maintenance time of 1 day (for every machine) and the performance percentage is 80%.
Answer Sheet

Total Points: 30 (15 multiple choice + 15 calculation)

Multiple Choice (maximum points: 15)
Points: …….. / 15
	1
	
	5
	
	9
	
	13
	

	2
	
	6
	
	10
	
	14
	

	3
	
	7
	
	11
	
	15
	

	4
	
	8
	
	12
	


Example 2 (maximum points: 2*3=6)
Points: ……../ 6

	P1 (units/y):
	

	P2 (units/y):
	


Example 3 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Labour productivity:      
	

	Machine productivity:
	

	Multifactor productivity:
	


Example 4 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Designed  Capacity:      
	mins/yr

	Effective Capacity:
	mins/yr

	Resource:
	mins/yr


Answer Sheet
Total Points: 30 (15 multiple choice + 15 calculation)

Multiple Choice (maximum points: 15)
Points: …….. / 15
	1
	C
	5
	A
	9
	C
	13
	A

	2
	A
	6
	A
	10
	B
	14
	B

	3
	C
	7
	D
	11
	B
	15
	A

	4
	A
	8
	A
	12
	A


Example 2 (maximum points: 2*3=6)
Points: ……../ 6

	T1 (units/y):
	1866

	T2 (units/y):
	201


Example 3 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Labour productivity:      
	6,67

	Machine productivity:
	10

	Multifactor productivity:
	3,33


Example 4 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Designed  Capacity:      
	360 000 mins/yr

	Effective Capacity:
	342 720 mins/yr

	Resource:
	274 176 mins/yr


